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Section : General Awareness

Q.1 ‘Matters of Discretion’ is an autobiography by which former prime minister of India?
Ans  # 1. Inder Kumar Gujral

< 2. HD Deve Gowda
#< 3. Chandra Shekhar
75 4. PV Narasimha Rao

Question ID : 630680300077
Option 1 ID : 6306801167234
Option 2 ID : 6306801167233
Option 3 ID : 6306801167231
Option 4 ID : 6306801167232
Status : Not Answered
Chosen Option : --

Q.2 Who among the following won the Orange Cap in IPL 20237
Ans X 1.Yashasvi Jaiswal

75 2. Virat Kohli
¥ 3. Shubman Gill
5 4. Faf du Plessis

Question ID : 630680300068
Option 1 ID : 6306801167198
Option 2 ID : 6306801167197
Option 3 ID : 6306801167195
Option 4 ID : 6306801167196
Status : Answered
Chosen Option : 3
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Q.3 Under whose chairmanship was the Official Language Commission set up in 1955?
Ans  # 1. Bal Gangadhar Kher

#< 2. Laxmi Narayana Pandey
#< 3. Jai Prakash
#< 4. Venu Gopalachari

Question ID : 630680300079
Option 1 ID : 6306801167239
Option 2 ID : 6306801167242
Option 3 ID : 6306801167240
Option 4 ID : 6306801167241
Status : Answered
Chosen Option : 3

Q.4 Who heads the Prime Minister's Office (PMO) administratively?
Ans X 1.Cabinet Secretary

X 2. Primary Secretary
& 3. Principal Secretary
/X 4. Chief Secretary

Question ID : 630680300085
Option 1 ID : 6306801167264
Option 2 ID : 6306801167263
Option 3 ID : 6306801167265
Option 4 ID : 6306801167266
Status : Answered
Chosen Option : 3

Q.5 Which of the following phases of the cell cycle in eukaryotes corresponds to the
interval between mitosis and initiation of DNA replication where the cell is
metabolically active and continuously grows but does not replicate its DNA?

Ans X 1.M phase
w¥ 2. G1 phase
< 3. Interphase
5 4. S phase

Question ID : 630680300087
Option 1 ID : 6306801167272
Option 2 ID : 6306801167273
Option 3 ID : 6306801167271
Option 4 ID : 6306801167274
Status : Not Answered
Chosen Option : --
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Ans

#< 1. Zakir Hussain and V.V Giri

Z5 2. Dr. Shanker Dayal Sharma and M Venkaiah Naidu
& 3. Dr. S Radhakrishnan and Mohammad Hamid Ansari
/X 4. Gopal Swarup Pathak and M Hidayatullah

Q.6 Who are the Chairmen of Rajya Sabha who have held office consecutively for two
terms?

Question ID : 630680300084
Option 1 ID : 6306801167260
Option 2 ID : 6306801167262
Option 3 ID : 6306801167259
Option 4 ID : 6306801167261
Status : Answered
Chosen Option : 3
Q.7 Which of the following methods can be used to control excess demand in the
economy?
Ans  # 1. Decrease in government expenditure
< 2. Reduction in reserve ratios
/< 3. The central bank decreases the bank rate.
75 4. Purchase of government securities
Question ID : 630680300074
Option 1 ID : 6306801167220
Option 2 ID : 6306801167221
Option 3 ID : 6306801167219
Option 4 ID : 6306801167222
Status : Answered
Chosen Option : 1
Q.8 In which of the following cities was India's first quantum computing-based telecom
network link made operational in March 2023?
Ans  # 1. New Delhi
/X 2. Chennai
/X 3. Bengaluru
X 4. Mumbai
Question ID : 630680300071
Option 1 ID : 6306801167209
Option 2 ID : 6306801167208
Option 3 ID : 6306801167210
Option 4 ID : 6306801167207
Status : Answered
Chosen Option : 1
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Q.9 Who among the following broke the national record in the men’s triple jump event at
an athletics meet in Havana, Cuba in May 2023?

Ans X 1.Renjith Maheswary
«# 2. Praveen Chithravel
Z< 3. Avinash Sable
/5 4. Vijay Singh Chauhan

Question ID : 630680300069
Option 1 ID : 6306801167199
Option 2 ID : 6306801167201
Option 3 ID : 6306801167200
Option 4 ID : 6306801167202
Status : Answered
Chosen Option : 1

Q.10 Researchers at which of the following institutes developed a low-cost star sensor for
astronomy and small CubeSat class satellite missions in March 2023?

Ans X 1. Raman Research Institute, Bengaluru
#< 2. Indian Institute of Science, Bengaluru
« 3. Indian Institute of Astrophysics (II1A), Bengaluru

75 4. Inter-University Centre for Astronomy and Astrophysics, Pune

Question ID : 630680300070
Option 1 ID : 6306801167203
Option 2 ID : 6306801167205
Option 3 ID : 6306801167204
Option 4 ID : 6306801167206
Status : Answered
Chosen Option : 4

Q.11 Union Home Minister Amit Shah launched the ‘Vibrant Villages Programme’ (VVP) in
April 2023 in which district of Arunachal Pradesh?

Ans X 1. ltanagar
¥ 2. Anjaw
/X 3. Dibang Valley
/X 4. Namsai

Question ID : 630680300073
Option 1 ID : 6306801167215
Option 2 ID : 6306801167217
Option 3 ID : 6306801167218
Option 4 ID : 6306801167216
Status : Answered
Chosen Option : 1
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Q.12 In which of the following states did Tribal Affairs Minister Arjun Munda launch
‘Marketing and Logistics Development for Promotion of Tribal Products from North-
Eastern Region’ (‘PTP-NER’) scheme in April 2023?

Ans o 1. Manipur
/5 2. Nagaland
X 3. Meghalaya
X 4. Tripura

Question ID : 630680300072
Option 1 ID : 6306801167212
Option 2 ID : 6306801167214
Option 3 ID : 6306801167213
Option 4 ID : 6306801167211
Status : Answered
Chosen Option : 4

Q.13 Pondicherry was captured by the British in 1761, but was returned to the French by
which treaty in 17637

Ans X 1. Treaty of Ryswick
75 2. Treaty of Amiens
o 3. Treaty of Paris
X 4. Treaty of Versailles

Question ID : 630680300076
Option 1 ID : 6306801167227
Option 2 ID : 6306801167229
Option 3 ID : 6306801167228
Option 4 ID : 6306801167230
Status : Answered
Chosen Option : 4

Q.14 Praveen Dashrath Bandekar won the Sahitya Akademi award 2022 for the Marathi
language for writing which of the following?

Ans ¥ 1. Ujavya Sondechya Bahulya (Novel)
/X 2. Baluchya Awasthantarachi Diary (Short Stories)
#< 3. Kadachit Ajoonahi (Poetry)
75 4. Udya (Novel)

Question ID : 630680300078
Option 1 ID : 6306801167236
Option 2 ID : 6306801167235
Option 3 ID : 6306801167237
Option 4 ID : 6306801167238
Status : Not Answered
Chosen Option : --
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Ans X 1. Chatra (Jharkhand) and Nanded (Maharashtra)
/5 2. Dumka (Jharkhand) and Latur (Maharashtra)
/X 3. Deogarh (Jharkhand) and Jalna (Maharashtra)

" 4. Ramgarh (Jharkhand) and Dhule (Maharashtra)

Q.15 In which two districts was the ‘EShakti’ pilot project for digitisation of SHGs launched
by the National Bank for Agricultural and Rural Development (NABARD) in the year

Question ID : 630680300075
Option 1 ID : 6306801167224
Option 2 ID : 6306801167225
Option 3 ID : 6306801167223
Option 4 ID : 6306801167226
Status : Not Answered
Chosen Option : --
Q.16 Which of the following are west flowing rivers?
A. Cauvery
B. Mahanadi
C. Narmada
D. Tapti
Ans # 1. CandD
X 2.Aand D
X 3.AandB
X 4.BandC
Question ID : 630680300081
Option 1 ID : 6306801167249
Option 2 ID : 6306801167250
Option 3 ID : 6306801167247
Option 4 ID : 6306801167248
Status : Answered
Chosen Option : 1
Q.17 According to Census 2011, the highest male-female disparity in literacy is in
whereas the lowest is in
Ans X 1. Madhya Pradesh; Kerala
75 2. Bihar; Tamil Nadu
«" 3. Rajasthan; Meghalaya
5 4. Jharkhand; Mizoram
Question ID : 630680300082
Option 1 ID : 6306801167251
Option 2 ID : 6306801167252
Option 3 ID : 6306801167253
Option 4 ID : 6306801167254
Status : Answered
Chosen Option : 3
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State Policy and Fundamental Duties?

Ans X 1. The 97th Amendment Act, 2011
X 2. The 43rd Amendment Act, 1982
25 3. The 42nd Amendment Act, 1976

¥ 4. The 86th Amendment Act, 2002

Q.18 Which of the following amendments brought changes in both Directive Principles of

Chosen Option :

Question ID : 630680300083
Option 1 ID : 6306801167255
Option 2 ID : 6306801167258
Option 3 ID : 6306801167257
Option 4 ID : 6306801167256
Status : Answered
Chosen Option : 3
Q.19 Based on his studies of purple and green bacteria, which microbiologist demonstrated
that photosynthesis is essentially a light-dependent reaction in which hydrogen from a
suitable oxidisable compound reduces carbon dioxide to carbohydrates?
Ans X 1.Antonie Philips van Leeuwenhoek
¥ 2. Cornelius van Niel
#< 3. Selman Abraham Waksman
/5 4. Robert Koch
Question ID : 630680300086
Option 1 ID : 6306801167267
Option 2 ID : 6306801167269
Option 3 ID : 6306801167268
Option 4 ID : 6306801167270
Status : Answered
Chosen Option : 1
Q.20 ‘Vishu’ is which state’s New Year festival?
Ans X 1.Andhra Pradesh
¥ 2. Kerala
X 3. Karnataka
< 4. Tamil Nadu
Question ID : 630680300080
Option 1 ID : 6306801167245
Option 2 ID : 6306801167244
Option 3 ID : 6306801167246
Option 4 ID : 6306801167243
Status : Answered

1

Section : General Intelligence & Reasoning Ability
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Ans

«” 1. GROUND : UIMHOX
75 2. LOUDER : PMGXWJ
#< 3. DOCKET : XMYQWH
< 4. EUROPE : WGJMLW

Q.1 Four letter-cluster pairs have been given, out of which three are alike in some manner
and one is different. Select the one that is different.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680300102
6306801167333
6306801167332
6306801167334
6306801167331
Answered

1

Ans

o 1.392

X 2.402
X 3.412
X 4.381

Q.2 Select the number from among the given options that can replace the question mark
(?) in the following series.
12, 30, 57, 109, 210, ?

Question ID :
1 6306801167340
Option 21D :

Option 1 ID

Option 3 ID
Option 4 ID
Status

Chosen Option :

630680300104

6306801167341

1 6306801167342
1 6306801167339
: Answered

1

Q.3 fV<K=P<MandV>H=U<T <F, then which of the following is NOT correct?
Ans X 1.V<M

X 2.K>U

& 3.P>F

X 4.P>v

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680300092
6306801167292
6306801167294
6306801167293
6306801167291
Answered

3
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'division' and '%' means 'subtraction’, then find the value of
T2@9#7& B84 @7)%64@ (10 &6)#5 % 12.

o 1.36
X 2.30
X 3.46
X 4.40

Ans

Q.4 In a certain code language, if' ‘& means "addition’, '# means 'multiplication’, ‘@' means

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680300106
6306801167348
6306801167347
6306801167350
6306801167349
Answered

1

 guitar
UHT : 3R

¢1.ﬂ§:m
X 2. fuM  |d
2 3.9Ed : wef
X 4,594 §u

Ans

Q5 WW-?WWﬁﬁﬁﬁﬁquaigwﬁmmmﬁﬂﬂﬁmﬂ
|

Question ID :
1 6306801167321
Option 21D :
1 6306801167320
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

Option 3 ID

630680300099

6306801167319

6306801167322

Answered
1

Monday and ending on Sunday of the same week. More than three persons have
exams before G. Less than three persons have exams before C. C’s exam is

after C. B’s exam is on Sunday. E’s exam is not on Thursday. On which day is D’s
exam?

w¥ 1. Tuesday
< 2. Monday

Ans

/5 3. Wednesday
X 4. Thursday

Q.6 Each of A, B, C, D, E, F and G has an exam on a different day of a week starting from

immediately after D. F’'s exam is immediately before B’s exam. A’s exam is immediately

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680300090
6306801167284
6306801167283
6306801167285
6306801167286
Answered

1
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Q.7 IR eg g foy Y §, o A i fpelt v A ve T § 3R U 3R 81 S S
? SUST 9T B

Ans X 1. @ fad
o 2. I : YIRS
X 3.Rig: oig
X 4. Oygd! ;&

Question ID : 630680300101
Option 1 ID : 6306801167327
Option 2 ID : 6306801167330
Option 3 ID : 6306801167328
Option 4 ID : 6306801167329
Status : Answered
Chosen Option : 2

Q.8 How many pairs of letters are there in the word ‘DECORATE’ which have as many
letters between them as are there between these two letters in the English alphabet?
(Consider counting both forward and backward directions.)

Ans 1. Three
< 2. Five
X 3. Two
5 4. Four

Question ID : 630680300095
Option 1 ID : 6306801167304
Option 2 ID : 6306801167306
Option 3 ID : 6306801167303
Option 4 ID : 6306801167305
Status : Answered
Chosen Option : 4

Q.9 Select the letter cluster pair that best represents a similar relationship to the one
expressed in the pair of letter clusters given below.
PROBLEM : ORPNVOY

Ans # 1. FOUNDER : UOFIVWM
/< 2. CROATIA : ORCZGSZ
75 3. CRAWLER: ARCDOUI
75 4. JACKETS : STEKPZX

Question ID : 630680300100
Option 1 ID : 6306801167324
Option 2 ID : 6306801167323
Option 3 ID : 6306801167325
Option 4 ID : 6306801167326
Status : Answered
Chosen Option : 1
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Q.10 Eight boys named K, L, M, N, O, P, R and S are sitting in a straight line facing the north
direction. More than four boys are sitting towards right of O. R is second to left of O.
Only P is sitting between M and K. N is sitting at the right end. Less than three boys
are sitting towards right of P. Only S is sitting between M and O. Who is sitting second
to right of L?

Ans X 1.P
2.5
X 3.M
X 4.0

Question ID : 630680300088
Option 1 ID : 6306801167276
Option 2 ID : 6306801167278
Option 3 ID : 6306801167275
Option 4 ID : 6306801167277
Status : Answered
Chosen Option : 2

Q.11 ‘A & B’ means ‘A is the brother of B’
‘A + B’ means ‘A is the son of B’
‘A @ B’ means ‘A is the wife of B’

IF'N&L+P@S &K+ M@ T’, then which of the following statements is NOT correct?
Ans X 1.Tis the father of S.

" 2. Lis the son of K.
/X 3. Sis the father of N.
X 4. Mis P’s mother-in-law.

Question ID : 630680300097
Option 1 ID : 6306801167313
Option 2 ID : 6306801167312
Option 3 ID : 6306801167311
Option 4 ID : 6306801167314
Status : Answered
Chosen Option : 2

Q.12 Select the number from among the given options that can replace the question mark
(?) in the following series.
7,9,21,67,273,?

Ans  # 1.1371
< 2.988
% 3.1012
X 4.1327

Question ID : 630680300105
Option 1 ID : 6306801167346
Option 2 ID : 6306801167343
Option 3 ID : 6306801167344
Option 4 ID : 6306801167345
Status : Answered
Chosen Option : 1
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Q13 IFN>T,P>N,M=P,Y<M,R<Y,R>E and G = E, then which of the following is
correct?

Ans X 1.G>R
X 2.N>M
X3 T>P
#4Y>G

Question ID : 630680300093
Option 1 ID : 6306801167298
Option 2 ID : 6306801167295
Option 3 ID : 6306801167297
Option 4 ID : 6306801167296
Status : Answered
Chosen Option : 4

Q.14 Which two numbers and signs should be interchanged to make the following equation
correct?
72+28+11-154%x4=170

Ans X 1.11and 154; + and x
75 2.72and 28; + and -
o 3.11and 4; x and +
/< 4.11 and 28; + and x

Question ID : 630680300107
Option 1 ID : 6306801167351
Option 2 ID : 6306801167354
Option 3 ID : 6306801167352
Option 4 ID : 6306801167353
Status : Answered
Chosen Option : 3

Q.15 Nine friends named A, B, C, D, E, F, G, H and K are sitting around a circular table facing
the centre. E is fifth to left of G. D is second to left of E. H is second to right of K. C is
third to left of K. B is fourth to right of A. H is to the immediate right of G. Who is
sitting fourth to right of F?

Ans X 1.K
o 2. H
X 3.G
X 4.D

Question ID : 630680300089
Option 1 ID : 6306801167282
Option 2 ID : 6306801167280
Option 3 ID : 6306801167279
Option 4 ID : 6306801167281
Status : Answered
Chosen Option : 2
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Q.16 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statement(s).

Statements:

Some machines are staplers.
Some staplers are comuters.

All computers are televisions.
Conclusions:

|. Some machines are televisions.
Il. Some computers are machines.
lll. No television is a stapler.

Ans X 1.land lll follow
5 2. Only | follows
& 3. None follow
X 4.l follows

Question ID : 630680300091
Option 1 ID : 6306801167288
Option 2 ID : 6306801167289
Option 3 ID : 6306801167290
Option 4 ID : 6306801167287
Status : Answered
Chosen Option : 3
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Q.17 Select the figure from among the given options that can replace the question mark (?) in the following series.
A [=] 0
o = A ?
O = |&2 Al= Q

Ans

=
S N

o 2.

0

Question ID : 630680300103
Option 1 ID : 6306801167338
Option 2 ID : 6306801167337
Option 3 ID : 6306801167335
Option 4 ID : 6306801167336
Status : Answered
Chosen Option : 2

Q.18 z1=1ies FY 7 Wikt frais @ G ¥ 1| Tred, faie Y velt €1 aférar arga @t ¢t 1 74,
TRar &1 93 81 T &7 a1gd & a1 HEY 32

Ans X 143
o 2. T
X 3.4man

X4

Question ID : 630680300096
Option 1 ID : 6306801167310
Option 2 ID : 6306801167309
Option 3 ID : 6306801167308
Option 4 ID : 6306801167307
Status : Answered
Chosen Option : 2
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Q.19 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.
C_N_WSG_VNY_S_CV_YW_G

Ans X 1.VYGWGNS
X 2VYCWGNV
&3 VYCWGNS
X 4VYCWGYS

Question ID : 630680300094
Option 1 ID : 6306801167302
Option 2 ID : 6306801167300
Option 3 ID : 6306801167299
Option 4 ID : 6306801167301
Status : Answered
Chosen Option : 3

Q.20 Select the option that is related to the fifth letter cluster in the same way as the second
letter cluster is related to the first letter cluster and the fourth letter cluster is related to
the third letter cluster.

RAMP : PXIK : : DICE : BFYZ : : SOFT: ?

Ans  # 1.QLBO
& 2.QKBN
# 3.QMDO
/< 4.QLCP

Question ID : 630680300098
Option 1 ID : 6306801167316
Option 2 ID : 6306801167318
Option 3 ID : 6306801167317
Option 4 ID : 6306801167315
Status : Answered
Chosen Option : 3

Section : Arithmetical & Numerical Ability

1 [£33%+2Y — 81 and 5¥2Y = 625, then 5x + 3y is:

Ans 1. 7
X2 6
X35
X4 9

Question ID : 630680300110
Option 1 ID : 6306801167365
Option 2 ID : 6306801167364
Option 3 ID : 6306801167363
Option 4 ID : 6306801167366
Status : Answered
Chosen Option : 1
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Q.2 The average of 6 numbers is 28. The average of first two numbers is 26 and the last two is 32. Find the average of the
remaining two mmbers.
Ans « 1. 26
X2 27
X 3. 28
<4 30
Question ID : 630680300111
Option 1 ID : 6306801167367
Option 2 ID : 6306801167368
Option 3 ID : 6306801167369
Option 4 ID : 6306801167370
Status : Answered
Chosen Option : 1
Q.3  Study the given pie-chart and answer the question that follows.
The following pie-chart shows the percentage of literate and illiterate - males and females in a city.
Percentage of Literate and llliterate - Males and Femalesina
city
What is the difference between the number of literate males and literate females if the number of illiterate males is 6487
Ans & 1. 144
X2 126
X3 136
X4 162
Question ID : 630680300125
Option 1 ID : 6306801167424
Option 2 ID : 6306801167426
Option 3 ID : 6306801167425
Option 4 ID : 6306801167423
Status : Answered
Chosen Option : 1
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Ans  #1. Am

cylindrical tank is (assume no overflow) (use m = ?) :

Q.4  Arectangular water tank of internal base 11 m X 7 m contains water upto a height of 8 m . If the water in the

rectangular tank is transferred to an empty cylindrical tank of radius 7 m, then the height of the water level in the

X2 6m
X3 Tm
X4 5m
Question ID : 630680300127
Option 1 ID : 6306801167431
Option 2 ID : 6306801167433
Option 3 ID : 6306801167434
Option 4 ID : 6306801167432
Status : Answered
Chosen Option : 1
Qs Aand B entered into a partnership with their capitals in the ratio 3 : = . After 4 months, A reduced his capital by one-
fourth and B increased his capital by 100%. What is the share (in Zlakhs) of B in the annual profit of 22.8 lakhs?
Ans X112
+ 2. 10.8
X3 11.5
X410
Question ID : 630680300118
Option 1 ID : 6306801167398
Option 2 ID : 6306801167396
Option 3 ID : 6306801167397
Option 4 ID : 6306801167395
Status : Answered
Chosen Option : 2
Q.6 Pipes A and B can fill a tank in 30 hours and 40 hours, respectively. Pipe C is an emptying pipe. When the tank is empty
and all the three pipes are opened together for 20 hours, then ﬁ portion of the tank remains unfilled. Pipe B and C
together can empty 30% of the tank in (hours):
Ans X' 1. 24
¥ 2 20
X3 18
X4 15
Question ID : 630680300121
Option 1 ID : 6306801167410
Option 2 ID : 6306801167409
Option 3 ID : 6306801167408
Option 4 ID : 6306801167407
Status : Answered
Chosen Option : 2
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Q.7
If the area of an equilateral triangle is ? 84.5 cm? . then each side of the triangle is:

Ans X110 cm
X2 12cm
X3 11cm
+4 13 cm

Question ID : 630680300126
Option 1 ID : 6306801167427
Option 2 ID : 6306801167429
Option 3 ID : 6306801167428
Option 4 ID : 6306801167430
Status : Answered
Chosen Option : 4

Q.8  Aboat takes 3§ hours in going 40 km upstream and 30 km downstream and the speed of the stream is 7% km/h. How
much time (in hours) will the boat take to travel 90 km in still water?

Ans X1 3
1
K2 33—
2

3 4

1
X4 44—
2

Question ID : 630680300123
Option 1 ID : 6306801167417
Option 2 ID : 6306801167418
Option 3 ID : 6306801167415
Option 4 ID : 6306801167416
Status : Not Answered
Chosen Option : --

Q.9 Two trains are running in the same direction with speeds of 38 km'h and 74 km/h. Time taken by faster train to cross a
man standing in the slower train is 50 seconds. The length of the faster train is:

Ans X' 1. 550 m
« 2. 500 m
X3 350m
X4 250 m

Question ID : 630680300122
Option 1 ID : 6306801167413
Option 2 ID : 6306801167412
Option 3 ID : 6306801167411
Option 4 ID : 6306801167414
Status : Answered
Chosen Option : 2
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Q.10 If the mean proportional of 25 and 49 is x and the fourth proportional of 5, § and 15 is v, then the value of 5x — 7y is:

Ans o 1, 3
X2 8
v3 7
X4 9
Question ID : 630680300119
Option 1 ID : 6306801167399
Option 2 ID : 6306801167400
Option 3 ID : 6306801167401
Option 4 ID : 6306801167402
Status : Answered
Chosen Option : 3
Q.11 If a 9-digit number 29x4957y4 is divisible by 88, then which of the following is NOT true?
Ans X1 x=7andy =0
v2x=7Tandy=1
X3 x=0andy=4
X4 x=4andy=28
Question ID : 630680300109
Option 1 1D : 6306801167361
Option 2 ID : 6306801167360
Option 3 ID : 6306801167362
Option 4 ID : 6306801167359
Status : Answered
Chosen Option : 2
Q.12 Aman travels from A to B at a speed of 40 km/h and next from B to C at 60 kinvh, where B is between A and C. The
ratio of distances between AB and BC is 2 : 3. He travels back from C to A at x km/h. If his average speed for the whole
journey is 61 ﬁ km/h, then what is the value of x ?
Ans X 1, 70
X2 75
X3 65
¥ 4. B0
Question ID : 630680300112
Option 1 ID : 6306801167372
Option 2 ID : 6306801167373
Option 3 ID : 6306801167371
Option 4 ID : 6306801167374
Status : Answered
Chosen Option : 4
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Q.13 Study the following table and answer the question that follows.

Income and expenditure of companies A and B during 2016 to 2020 (in X crores)

A B
X Income | Expenditure | Income | Expenditure

Vear

2016 160 105 220 130
2017 210 140 270 180
2018 | 250 180 300 210
2019 | 290 200 320 250
2020 | 300 175 400 300

The total expenditure of company B in 2016 and 2018 is what percentage of the total
income of company A in 2017, 2019 and 2020?

Ans X 1. 47.5%
X 2. 38.75%
v 3 42.5%
X 4. 48.75%

Question ID : 630680300124
Option 1 ID : 6306801167421
Option 2 ID : 6306801167419
Option 3 ID : 6306801167420
Option 4 ID : 6306801167422
Status : Answered
Chosen Option : 1

Q.14 The marked price of an article is Z875. It is sold for ¥598.50, after giving three successive discounts of 10%, x% and

20%. What is the selling price of the article, if it is sold at a single discount of 3 x% 7

Ans 1. 3743.75
X2 3775
X 3. 3762.50
X 4. 3725

Question ID : 630680300116
Option 1 ID : 6306801167388
Option 2 ID : 6306801167387
Option 3 ID : 6306801167389
Option 4 ID : 6306801167390
Status : Answered
Chosen Option : 4
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Q.15 Asumof 28,415 is divided between A, B and C such that the ratio of the share of B to the combined shares of Aand C
is 3 : 8 and the ratio of C’s share to the combined share of A and B is 4 : 11. What is the share of A?

Ans 1. 23,876
X 2 %2205
X 3. %3205
X 4. 23,786

Question ID : 630680300117
Option 1 ID : 6306801167393
Option 2 ID : 6306801167391
Option 3 ID : 6306801167394
Option 4 ID : 6306801167392
Status : Answered
Chosen Option : 1

If42 X 22 — /625 — 132 = =2 then the value of x is:
X
Ans X' 1 12
W2 13
X3 14
K411

Question ID : 630680300108
Option 1 ID : 6306801167356
Option 2 ID : 6306801167355
Option 3 ID : 6306801167357
Option 4 ID : 6306801167358
Status : Answered
Chosen Option : 4

Q.17 The price of an item is successively increased by 20% and 30%, and then decreased successively by 15% and 25%. If
the difference between the final price and the original price of the item is £17.60, then the original price of the item is:

Ans 1. 33,200
X 2. 23,500
X 3. %4200
X 4. 23.000

Question ID : 630680300113
Option 1 ID : 6306801167376
Option 2 ID : 6306801167377
Option 3 ID : 6306801167378
Option 4 ID : 6306801167375
Status : Answered
Chosen Option : 1
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how much percentage above the cost price does he mark the item? (Nearest to an integer.)

Ans X 1. 80%

Q.18 A trader sells an item by giving two successive discounts of 5% and 20% on its marked price and still gains 33%. By

X< 2. 60%
« 3. 75%
X4 T20%
Question ID : 630680300115
Option 1 ID : 6306801167386
Option 2 ID : 6306801167383
Option 3 ID : 6306801167385
Option 4 ID : 6306801167384
Status : Answered
Chosen Option : 3
Q.19 When an article is sold at ﬁ of its actual selling price, there is a loss of 25%. If it is sold at 329 above its actual selling
price, then the profit percentage is:
Ans X' 1. 8%
2. 20%
X 3. 30%
X 4. 250
Question ID : 630680300114
Option 1 ID : 6306801167379
Option 2 ID : 6306801167380
Option 3 ID : 6306801167382
Option 4 ID : 6306801167381
Status : Answered
Chosen Option : 2
Q.20 Asumof 221,000 is borrowed at a rate of 10% p.a. compound interest compounded yearly. It is returned in two equal
annual instalments. What is the amount of each instalment?
Ans X 1. 212,000
2 212,100
<3 Z12.250
X4 Z12.150
Question ID : 630680300120
Option 1 ID : 6306801167403
Option 2 ID : 6306801167404
Option 3 ID : 6306801167406
Option 4 ID : 6306801167405
Status : Answered
Chosen Option : 2

Section : Hindi (Language & Comprehension)
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Q.1 FHTEIGY dehTd Biadl B ST 8 | IR b JGiTed areri B Aet fawer A ufawnfia

I
Ans X 1.gH
X 2. gFdeid
X 3. Rigel
o 4. STYHA
Question ID : 630680300058
Option 1 ID : 6306801167158
Option 2 ID : 6306801167157
Option 3 ID : 6306801167156
Option 4 ID : 6306801167155
Status : Answered
Chosen Option : 3
Q.2 < & AT WG] Bl g BT qHS U T &1 arR & e A & e
Haffires Iuged Weg I AT 8?2
Ans X 1, g
X 2. faywa
o 3. R’R
X 4. Tmyd

Question ID : 630680300059
Option 11D : 6306801167161
Option 2 ID : 6306801167160
Option 3 ID : 6306801167162
Option 4 ID : 6306801167159
Status : Answered
Chosen Option : 4

Q.3 wgd & reHt U=l A g ke Wl 8 1 9T & I d 3% 1 SRId Apiad o
ufaaTfia s3I
Ans g 1. QT TIE GG IR
X 2. T A AT IR
X 3 A A AR A IS

X 4. < el # g g

Question ID : 630680300064
Option 1 ID : 6306801167179
Option 2 ID : 6306801167180
Option 3 ID : 6306801167182
Option 4 ID : 6306801167181
Status : Answered
Chosen Option : 1
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Q4 TR o1 AT B-

Ans X 1. fa=m=
X 2.9dq
2 3. AP
o 4. thalld
Question ID : 630680300065
Option 1 ID : 6306801167183
Option 2 ID : 6306801167185
Option 3 ID : 6306801167186
Option 4 ID : 6306801167184
Status : Answered
Chosen Option : 4
Q.5 ugwHH e A B A1 a1 IS 82
Ans o 1. Tl fR-ER ISR
X 2. &l I § R-RI
X 3. 4R-9R I & vafl|
X 4. IR yef s8I
Question ID : 630680300052
Option 1 ID : 6306801167134
Option 2 ID : 6306801167132
Option 3 ID : 6306801167133
Option 4 ID : 6306801167131
Status : Answered
Chosen Option : 1
Q.6 faew &t = | 9 a1 70 gAfa T8 22
Ans X' 1. TdT - QA
& 2.dH -3
X 3. Rar -3
X 4.9d-<ra
Question ID : 630680300067
Option 1 ID : 6306801167194
Option 2 ID : 6306801167193
Option 3 ID : 6306801167192
Option 4 ID : 6306801167191
Status : Answered
Chosen Option : 2
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Q.7 QI IR W oA 9rar 9w & fore grde v 8-

Ans X 1.gd
X 2. fgad
o 3.5
X 4. 3gd
Question ID : 630680300054
Option 1 ID : 6306801167139
Option 2 ID : 6306801167142
Option 3 ID : 6306801167140
Option 4 ID : 6306801167141
Status : Answered
Chosen Option : 2
Q.8 uf¥fir frae vafg 82
Ans .z 1 iffd
X 2. e
X 3. @
X 4. 3ifAfga
Question ID : 630680300066
Option 1 ID : 6306801167189
Option 2 ID : 6306801167190
Option 3 ID : 6306801167187
Option 4 ID : 6306801167188
Status : Answered
Chosen Option : 1
Q9 A" g5 B g & TR A g o 81 9T & Ry wie & forg waffre
S faweu &1 7 B
Ans X 1 93
25 2. 3FHH
o 3. 91U
X 4.9y
Question ID : 630680300061
Option 1 ID : 6306801167168
Option 2 ID : 6306801167169
Option 3 ID : 6306801167167
Option 4 ID : 6306801167170
Status : Answered
Chosen Option : 3
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Q.10 e F} ITal W W AT NI I F Y@ifbd 3 H1 IR Garar A wfawiriia s31
Ans X 1. HE @G

& 2. B T
X 3. ®H 8 dd STeT
X 4. @S B

Question ID : 630680300063
Option 1 ID : 6306801167175
Option 2 ID : 6306801167176
Option 3 ID : 6306801167178
Option 4 ID : 6306801167177
Status : Answered
Chosen Option : 4

Q.1 Iy gy & w1 fyur 3gar 31 a1 & Y@ifrd 2 &) Sfrd fawew I wfownfia w31
Ans X 1.9yrd

X 2. 3R
o 3.
X 4.3d

Question ID : 630680300056
Option 1 ID : 6306801167149
Option 2 ID : 6306801167147
Option 3 ID : 6306801167148
Option 4 ID : 6306801167150
Status : Answered
Chosen Option : 3

Q.12 it g2t & e ¥ Iy & g Ao e @-
Ans X 1. 3miffg

o 2. Tfq
2 3. TG
X 4.y

Question ID : 630680300055
Option 1 ID : 6306801167144
Option 2 ID : 6306801167143
Option 3 ID : 6306801167145
Option 4 ID : 6306801167146
Status : Answered
Chosen Option : 2
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Q.13 D ygA & o & fory YeTa &1 v giar 82
Ans o 1 RRIRIER AT

X 2. Rrdle

X 3. RR e

X 4 RR3amr

Question ID : 630680300062
Option 1 ID : 6306801167174
Option 2 ID : 6306801167173
Option 3 ID : 6306801167171
Option 4 ID : 6306801167172
Status : Answered
Chosen Option : 3

Q.14 rq fira 81 are & Y@ifed Weg a1 T8t fawe A ufawnfig &3
Ans X 1. 3%d

X 2. frA
X394
o 4. o
Question ID : 630680300057
Option 1 1D : 6306801167151
Option 2 ID : 6306801167154
Option 3 ID : 6306801167152
Option 4 ID : 6306801167153
Status : Answered
Chosen Option : 3
Q.15 a9y fasa #t sic A T8t 1 Tt & fraa R & fore waifte Suga v
P ATE?
Ans X 1.39
o 2. 3%
X 3.d%
K 4R

Question ID : 630680300060
Option 1 ID : 6306801167163
Option 2 ID : 6306801167164
Option 3 ID : 6306801167166
Option 4 ID : 6306801167165
Status : Answered
Chosen Option : 2
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Q.16 ygwHH P e | B A1 a1 UG 872
Ans X 1. 7o I &N X6 87
X 2. TSI QT § HeW?
o 3. 1 T3 ST TET 872
< 4. TR ST 1 TET 87
Question ID : 630680300053
Option 1 ID : 6306801167135
Option 2 ID : 6306801167136
Option 3 ID : 6306801167137
Option 4 ID : 6306801167138
Status : Answered
Chosen Option : 3
Comprehension:
A afYe uRea & f&Hal &) g2 B A JHIIe, IoHifas-aifefde asf & fau=if &1 7
R YR g3 Yo Hia el ) TaaardT SR T &1 AR dd 4| 3 30 H1ed | AR
TR, ISP T 3R T F WY, TR 36 & fgardt 81 snyfe Iy & g1k & Jure,
TOIYRT Y Sepd TS a1 o & oS 38 10 qrel &1 el 9§ gaa s fawsl ofk
ST Uglaat [aefyd 81 38 §1 fedl ufed oo T fUss wa & faman siftie ArFdia G
F1 g | Ui FTor AT-9% § 3G A8t Rl g
IR TR & YR TR e usll & IR fom-
SubQuestion No : 17
Q.17 gAY & AT BT AT frg A A 32
Ans X 1. fife 9o
X 2. owia was
o 3. Uss Tow
X 4. S TS
Question ID : 630680300048
Option 1 ID : 6306801167118
Option 2 ID : 6306801167115
Option 3 ID : 6306801167116
Option 4 ID : 6306801167117
Status : Answered
Chosen Option : 3
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Comprehension:

g Ay aRewa B el o) o= &1 AR TmIie, Ieifae-aifsfae &=t & fausif o1 7ar
R IE G| Yo Hiq el o) Tacdr 3IR T &I AR Jadh 3| d 30 HTod & TR B
TIRAT, ITH! AT SR THH F 1Y, T I8 & gt &1 sy T § g1 & T,
TOIYRT ¥ Sepd JHTS Al far H oS 38 1Y 9l &1 el 3 gad o fawsl ofk
ST ugfaat [aemfyd 81 %8 81 fewd) ufad oo U fUes waet @ famar sifties ArFdia g3

Fa1 8| UiF FTe g0 § 0E 61 aRaT g

IR T & YR TR Fofarad usit & IR -

SubQuestion No : 18

Q.18 yfF BT & weH A B w1 Y I A ¥
Ans X 1. IUS! I foidl 1 &1 a4 gl

X 2. 7 gt ) e 3tk T &1 9ad S g1
X 3. YA ia Rl &1 Tadwad &I AR Tad Ul
o 4. T8 UT-9T8 T SR FHRal g

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 630680300050
: 6306801167124
: 6306801167123
: 6306801167125
: 6306801167126
Status :
Chosen Option :

Answered
4

Ans

Comprehension:

gaA Ay ulewy § (&l &) a2 &) dar g, Ieifae-arfefde &= § famwf &1 Tar

R & G| Yo Hiq el o) TacdT 3IR T &1 AR adh 3| d 30 HTod & TR B
TIRAT, ITH! AT SR THH P 1Y, T I8 & gAm & | 3y T 7 g1 & T,
TOIURT Y SeSpd JHTS A1 far H oS 38 1Y qel &1 el § o orie fawsl ofk
3T Ugfaal [aeRd 81 38t &1 o<t Hidd o1o0 TR s wu ot e Sif¥ies Ad S

FRa1 81 UiF P g0 § 0E 61 aRaT g

IR T & YR R Fofarad usi & IR -

SubQuestion No : 19

Q.19 TR BT WA Iuge e S a1 872

X 1. yfdaered o wifa

X 2. ufdgeTey B Hidd ugfa

o 3. HiaddTe 3R JHGTEH fausf
X 4. Hfdawre ot g

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 630680300051

: 6306801167130
: 6306801167127
: 6306801167129
: 6306801167128
: Answered
Chosen Option :

3
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Comprehension:

T Ay aRewa B el &) o= &1 AR JmIie, Ieifas-aiffae &=t & fausif o1 ar
R Y= §3T| Yo g Rt BT TacaT 3R YW &1 AR qadb A1 d 30 b1 & AR} Bt
TIRAT, ITH! AT SR THH P 1Y, 1 T/ & gt &1 3y T § g1 3w,
HEAYRT ¥ SeSpd FHS Al far H oS 38 1Y 9l &1 el 3 o ore fawl ofk
e Ugfadt e fid € 38 1 R wfdk srog U e s &t e aifire wdia ¢ @
Fa1 8| HiF FTo -0 § 0E 61 IRl g

JIRIa TR & YR W AAfarad ud & 3w G-

SubQuestion No : 20

Q.20 farady &1 3rd -
Ans 1. Ul

X 2. qe™

X 3. &R

X 4. RO

Question ID : 630680300049
Option 11D : 6306801167119
Option 2 ID : 6306801167121
Option 3 ID : 6306801167120
Option 4 ID : 6306801167122
Status : Answered
Chosen Option : 3

Section : English (Language & Comprehension)

Q.1 Select the most appropriate ANTONYM of the phrase ‘level up’.
Ans X 1.Ameliorate

«" 2. Regress
< 3. Augment
< 4. Levelin

Question ID : 630680310920
Option 1 ID : 6306801209801
Option 2 ID : 6306801209802
Option 3 ID : 6306801209803
Option 4 ID : 6306801209804
Status : Answered
Chosen Option : 2
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Q.2 Select the most appropriate option to fill in the blanks.

This book is rough and partial of a search answers to

these . It began as series of memos in the evenings

my colleague and friend Bill Hull, whose fifth-grade class | observed and taught during
the day.

Ans X 1.the, record, for, questions, a, spoken, to
/5 2. the, record, for, questions, a, written, with
/X 3. a, record, for, questions, the, written, to

" 4. the, record, for, questions, a, written, to

Question ID : 630680310915
Option 1 ID : 6306801209784
Option 2 ID : 6306801209781
Option 3 ID : 6306801209782
Option 4 ID : 6306801209783
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the underlined word.

Post the pandemic and in the wake of the increased awareness for sustainable
development, manufacturers have increased the greenwashing effect of their
products.

Ans X 1. Non toxic
« 2. Green blushing
25 3. Carbon washing
5 4. Eco-friendly

Question ID : 630680310921
Option 1 ID : 6306801209806
Option 2 ID : 6306801209807
Option 3 ID : 6306801209808
Option 4 ID : 6306801209805
Status : Not Answered
Chosen Option : --

Q.4 In which of the following sentences is the word ‘gaslighting’ used correctly?
Ans X 1. He has a business of gaslighting in his local village.

/5 2. Gaslighting is an interesting psychotherapy in India.

& 3. Some men are known for driving their wives to nervous breakdown through
gaslighting.

/5 4. The men are called for correcting gaslighting in home.

Question ID : 630680310911
Option 1 ID : 6306801209765
Option 2 ID : 6306801209768
Option 3 ID : 6306801209767
Option 4 ID : 6306801209766
Status : Answered
Chosen Option : 3
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Q.5 Select the sentence in which the following word is INAPPROPRIATELY used.
‘Walk’

Ans  «# 1. | reached the shopping mall by walk.
< 2. Do you believing in walking the talk?
25 3. Animals walk on four feet.

/X 4. | used to walk up the hill all by myself.

Question ID : 630680310912
Option 1 ID : 6306801209769
Option 2 ID : 6306801209771
Option 3 ID : 6306801209772
Option 4 ID : 6306801209770
Status : Answered
Chosen Option : 1

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

(1) Thank you Gaurika! It was way back on 19 May 2017, when we had the first Alumni
Meet on the campus.

(2) Once again, we have made the effort to pull all strings together for a spectacular
alumni meet.

(3) The whole environment was reverberating with emotions, joy, laughter, excitement
and nostalgia; it truly reminded me of how apt the saying goes: Distance makes the
heart grow fonder!

(4) Today, on behalf of ABC Institute, XYZ University, | welcome you all. The
institutional Alumni council members have worked hard in putting up this show today.
(5) Its been a mixed experience organising this event for our dear alumni; getting
connected to you again brings forth a host of memories and experiences which were
forgotten due to the ever new happenings in our personal and professional life.

(6) We sincerely hope that it turns out to be a very very special moment for you,
reconnecting with your batchmates and seeing how they have changed over the years.

Ans o 1.132546
X 2.145236
< 3.123456
7 4.154236

Question ID : 630680310924
Option 1 1D : 6306801209818
Option 2 ID : 6306801209820
Option 3 ID : 6306801209817
Option 4 ID : 6306801209819
Status : Answered
Chosen Option : 2
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Q.7 Sentences of a paragraph from a speech by Narayan Murthy are given below in
jumbled order. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph.

(1) It is because of one significant phenomenon — globalization.

(2) What is globalization?

(3) To me, globalization is sourcing capital from where it is cheapest, sourcing talent
from where it is best available, producing where it is most cost-effective, and selling
where it is most profitable, without being constrained by national boundaries.

(4) We live in an extraordinary era.

(5) Never before was the competition so intense, opportunities so huge, and
challenges so daunting.

Ans X 1.14325
X 2.31542
X 3.21345
o 4.45123

Question ID : 630680310914
Option 1 ID : 6306801209780
Option 2 ID : 6306801209778
Option 3 ID : 6306801209779
Option 4 ID : 6306801209777
Status : Answered
Chosen Option : 4

Q.8 In which of the following sentences is the word ‘accentuate’ used appropriately?

Ans X 1. Mr. Khan accentuated his speech with his personal anecdotes.
" 2. The crisp saree and bold look accentuated her position as an organisational head.
#< 3. His soft, meek voice accentuated his powerful personality.

75 4. Her loose performance accentuated her candidature for the award.

Question ID : 630680310910
Option 11D : 6306801209762
Option 2 ID : 6306801209763
Option 3 ID : 6306801209764
Option 4 ID : 6306801209761
Status : Answered
Chosen Option : 3

Q.9 Which of the following words means ‘a trusted advisor or counsellor of a mafia or
political family’?

Ans X 1. Consiglere
< 2. Conspirer
" 3. Consigliere
/X 4. Companion

Question ID : 630680310909
Option 1 ID : 6306801209758
Option 2 ID : 6306801209757
Option 3 ID : 6306801209759
Option 4 ID : 6306801209760
Status : Answered
Chosen Option : 1
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Q.10 Select the most appropriate meaning of the underlined idiom.

Summer vacations ended and everyone realised time flies when everyone is having
fun.
Ans ¥ 1. When we have fun time passes swiftly.
#< 2. One must have fun to pass time.
75 3. With family and friends time moves fast.
75 4. Summer vacations are of short duration now.
Question ID : 630680310918
Option 1 ID : 6306801209795
Option 2 ID : 6306801209796
Option 3 ID : 6306801209794
Option 4 ID : 6306801209793
Status : Answered
Chosen Option : 1
Q.11 Select the most appropriate option to fill in the blanks.
The 2030 Agenda for Sustainable Development was adopted __ UN member countries
in 2015. The Covid-19 pandemic an adverse impact on the sustainable
development goals by countries to be achieved by 2030. has slowed,
disrupted and temporarily reversed the progress SDGs. The pandemic also
highlighted the existing inequalities in the world on various fronts such as gender
disparity, inclusion, social equity, ethnicity, rural, urban, developed and developing
economy and so on.
Ans X 1.by, had, set, It, amidst
" 2. by, had, set, It, across
/X 3. for, had, set, It, across
75 4. by, has, set, It, across
Question ID : 630680310917
Option 1 ID : 6306801209792
Option 2 ID : 6306801209791
Option 3 ID : 6306801209789
Option 4 ID : 6306801209790
Status : Answered
Chosen Option : 2
Q.12 Select the most appropriate meaning of ‘goblin mode’.
Ans X 1. Helpful
#< 2. Studious
o 3. Self indulgent
25 4. Magical
Question ID : 630680310922
Option 1 ID : 6306801209810
Option 2 ID : 6306801209811
Option 3 ID : 6306801209809
Option 4 ID : 6306801209812
Status : Answered
Chosen Option : 4
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Q.13 is a suitable ANTONYM of the word ‘Vexed’.
Ans X 1. Difficult

< 2. Contentious
/< 3. Disputed
«¥ 4. Resolved

Question ID : 630680310919
Option 1 ID : 6306801209798
Option 2 ID : 6306801209797
Option 3 ID : 6306801209799
Option 4 ID : 6306801209800
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option to fill in the blanks.

The National Achievement Survey (NAS) is national level survey provides
reflections on levels of effectiveness education system. It
excellent scope for comparison across the spectrum and across the population. It has
high value for providing recommends for planning , allocation of funds , strategising
and policy implementation.

Ans X 1.a, that, the, of, gave

/5 2. a, that, a, of, gives
/< 3. a, that, the, in, gives

o 4. a, that, the, of, gives

Question ID : 630680310916
Option 1 ID : 6306801209785
Option 2 ID : 6306801209787
Option 3 ID : 6306801209788
Option 4 ID : 6306801209786
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She walked to the store and buy milk.
Ans X 1.purchase

X 2. take
/< 3. brought
& 4. bought

Question ID : 630680310913
Option 1 ID : 6306801209773
Option 2 ID : 6306801209776
Option 3 ID : 6306801209775
Option 4 ID : 6306801209774
Status : Answered
Chosen Option : 4
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Q.16 In the following passage, some words have been deleted. Read the passage carefully
and select the most appropriate option to fill in the blanks.
The G 20 summit promises open gateways for renewable s
development of technological know how, channelise sources of power
generation create a mechanism to challenges.

Ans 1. to; energy; the; and; withstand
/5 2. to; energy; a; but; withstand
X 3. to; forces; the; and; withstand

/5 4. to; energy; the; and; outstand

Question ID : 630680310923
Option 1 ID : 6306801209815
Option 2 ID : 6306801209813
Option 3 ID : 6306801209814
Option 4 ID : 6306801209816
Status : Answered
Chosen Option : 1
Comprehension:
Read the given passage and answer the question that follows.
The exercise of vision building can neither be done by only restructuring the present realities
nor by sheer dreaming. Vision, dreams and future expectations must merge into
contemporary realities. Visions can be realised and transformed into realities by
understanding, initiative, commitment and hard work and dreams can be transformed into
realities if full trust is put in self, society and the nature.
Envisioning is a part of an individual’s planning activities as also that of a nation. Nations, big
or small, developed or developing, all conceive and construct future visions and prepare
strategies to achieve them.
SubQuestion No : 17
Q.17 Read the above passage and identify the most appropriate one-sentence summary .
Ans X 1. Vision and dreams are isolated
/X 2. Visons can be realized, dreams cannot be realized
" 3. Both vision and dreams can be realized with right strategizing
#< 4. Vision can be realized with hard work , intuition and aspirations
Question ID : 630680310907
Option 1 ID : 6306801209752
Option 2 ID : 6306801209749
Option 3 ID : 6306801209751
Option 4 ID : 6306801209750
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage and answer the question that follows.

The exercise of vision building can neither be done by only restructuring the present realities
nor by sheer dreaming. Vision, dreams and future expectations must merge into
contemporary realities. Visions can be realised and transformed into realities by

understanding, initiative, commitment and hard work and dreams can be transformed into
realities if full trust is put in self, society and the nature.

Envisioning is a part of an individual’'s planning activities as also that of a nation. Nations, big
or small, developed or developing, all conceive and construct future visions and prepare
strategies to achieve them.

SubQuestion No : 18
Q.18 Identify the tone of the given passage.
Ans X 1.Reflective

75 2. Positive mood
< 3. Nostalgic

«¥ 4. Inspirational

Question ID : 630680310908
Option 1 ID : 6306801209755
Option 2 ID : 6306801209753
Option 3 ID : 6306801209754
Option 4 ID : 6306801209756
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage and answer the question that follows.

The exercise of vision building can neither be done by only restructuring the present realities
nor by sheer dreaming. Vision, dreams and future expectations must merge into
contemporary realities. Visions can be realised and transformed into realities by

understanding, initiative, commitment and hard work and dreams can be transformed into
realities if full trust is put in self, society and the nature.

Envisioning is a part of an individual’s planning activities as also that of a nation. Nations, big
or small, developed or developing, all conceive and construct future visions and prepare
strategies to achieve them.

SubQuestion No : 19
Q.19 Identify the central theme of the given passage.

Ans X 1. Vision is less realistic than dreams and aspirations.
/X 2. To transform reality one must engage in dreaming.
#< 3. Vision can be built by daydreaming.

«” 4. Envisioning requires action from individuals.

Question ID : 630680310905
Option 1 ID : 6306801209742
Option 2 ID : 6306801209744
Option 3 ID : 6306801209741
Option 4 ID : 6306801209743
Status : Answered
Chosen Option : 4
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Comprehension:

Read the given passage and answer the question that follows.

The exercise of vision building can neither be done by only restructuring the present realities
nor by sheer dreaming. Vision, dreams and future expectations must merge into
contemporary realities. Visions can be realised and transformed into realities by

understanding, initiative, commitment and hard work and dreams can be transformed into
realities if full trust is put in self, society and the nature.

Envisioning is a part of an individual’'s planning activities as also that of a nation. Nations, big
or small, developed or developing, all conceive and construct future visions and prepare
strategies to achieve them.

SubQuestion No : 20
Q.20 What inference can be drawn from the above passage ?

Ans & 1. Envisioning involves an amalgamation of reality and dreams
#< 2. Vision building is a result of dreaming
Z< 3. Envisioning and dreaming are same processes

75 4. Developing nations construct vision

Question ID : 630680310906
Option 1 ID : 6306801209747
Option 2 ID : 6306801209745
Option 3 ID : 6306801209746
Option 4 ID : 6306801209748
Status : Answered
Chosen Option : 3

Section : Basic Computer Knowledge

Q.1 Which of the following file extensions is used for Microsoft Word document before
Word 2007?

Ans X 1.docx
" 2. doc
/< 3.docm

X 4. dot

Question ID : 630680300135
Option 1 ID : 6306801167464
Option 2 ID : 6306801167463
Option 3 ID : 6306801167465
Option 4 ID : 6306801167466
Status : Answered
Chosen Option : 2
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Q.2 Identify whether the following statements are true or false.
i) Digital signature is used to verify authenticity, integrity and non-repudiation.
ii) In symmetric encryption, data is encrypted using a key and the decryption is also
done using the same key.
iii) Digital certificate is a file that ensures holder’s identity and provides security.

Ans o 1.i-True, ii-True, iii-True
X 2.i- True, ii-False, iii-True
/X 3.i- True, ii-True, iii- False
/X 4.i- False, ii-True, iii-True

Question ID : 630680300144
Option 1 ID : 6306801167499
Option 2 ID : 6306801167501
Option 3 ID : 6306801167502
Option 4 ID : 6306801167500
Status : Answered
Chosen Option : 2

Q.3 Which of the following icons are available under *Changes’ menu group in the ‘Review’ menu, in Microsoft Word 3657

i B

Ans X 1.0nlyi, iiandiv

x 2.0, i, i, v
o 3.0, i, iiiand iv
X 4.iii,ivand v

Question ID : 630680300136
Option 1 ID : 6306801167470
Option 2 ID : 6306801167468
Option 3 ID : 6306801167467
Option 4 ID : 6306801167469
Status : Not Answered
Chosen Option : --
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Q.4 Identify whether the following statements are true or false.

i) In MS-Excel 365, the conditional formatting is a part of ‘Styles’ menu group under
‘Home’ menu.

ii) In MS-Excel 365,'Delete sheet’ option is available under ‘Cells’ menu group in

‘Home’ menu.

Ans X 1.i-True, ii-False
/5 2.i-False, ii-True
o 3. i-True, ii-True

X 4.i-False, ii-False

Question ID : 630680300139
Option 1 ID : 6306801167481
Option 2 ID : 6306801167480
Option 3 ID : 6306801167479
Option 4 ID : 6306801167482
Status : Answered
Chosen Option : 2
Q.5 Which of the following computer characteristics are directly related to temporary or
permanent data repository?
i. Accuracy
ii. Storage
iii. Speed
iv. Versatility
v. Power of remembrance
vi. Diligence
Ans # 1. Onlyiiand v
< 2. ii, iii, iv and vi
X 3., ivand v
X 4., i and iii
Question ID : 630680300129
Option 1 ID : 6306801167439
Option 2 ID : 6306801167442
Option 3 ID : 6306801167441
Option 4 ID : 6306801167440
Status : Answered
Chosen Option : 2
Q.6 Identify whether the following statements are true or false.
i) MROM is a hardware memory device in which programs and instructions are stored
at the time of manufacturing by the manufacturer.
ii) EPROM is a type of ROM that can be reprogramed and erased many times.
Ans X 1.i-True, ii- False
o 2. i- True, ii- True
X 3.i-False, ii- False
X 4.i- False, ii- True
Question ID : 630680300131
Option 1 ID : 6306801167449
Option 2 ID : 6306801167447
Option 3 ID : 6306801167450
Option 4 ID : 6306801167448
Status : Answered
Chosen Option : 4
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Q.7 Arrange the following steps in correct sequence to uninstall a program from Windows
XP.
i- Navigate to the Windows start menu by clicking on the ‘Start’ button.
ii- In the Control Panel window, click on the ‘Add or Remove Programs’.
iii- After the Start Menu opens, select ‘Settings’, then click on ‘Control Panel’.
iv-In the ‘Add or Remove Programs’ window, select the program you want to uninstall.
v- Click on the ‘Change/Remove’ button.
Ans X 1.4, ii, iii, iv, v
2 2.0, il i, v, iv
X3y, iy i, i, v
o 4., il iy iv, v
Question ID : 630680300134
Option 1 ID : 6306801167460
Option 2 ID : 6306801167462
Option 3 ID : 6306801167461
Option 4 ID : 6306801167459
Status : Answered
Chosen Option : 4
Q.8 Identify whether the following statements are true or false.
i)In Windows XP ‘Hibernation’ process, computer saves the current state of the system
from the computer's RAM to the hard disk, then shuts down.
ii) In Windows XP, icons on desktop are small graphical representation of a program or
file.
Ans X 1.i- False, ii-True
X 2.i- True, ii-False
o 3.i-True, ii-True
X 4.i-False, ii-False
Question ID : 630680300133
Option 1 ID : 6306801167456
Option 2 ID : 6306801167457
Option 3 ID : 6306801167455
Option 4 ID : 6306801167458
Status : Answered
Chosen Option : 3
Q.9 Which of the following are valid transitions in MS-PowerPoint 365?
i- Morph
ii- Wipe
iii- Run
iv- Uncover
Ans X 1.i, i and iii
X 2.0nlyi
5 3.ii, iii and iv
¥ 4. i iiandiv
Question ID : 630680310854
Option 1 ID : 6306801209542
Option 2 ID : 6306801209541
Option 3 ID : 6306801209544
Option 4 ID : 6306801209543
Status : Not Answered
Chosen Option : --



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.10 Match the columns, Computer units / Memory with column Descriptions.

Computer units/ Memory Descriptions

(a) Control Unit (i) This unit consists of two subsections,
Arithmetic Section and Logic Section.

(b) Register memory (ii) This unit is responsible for communication
with input and output devices for transfer of
data or results from memory.

(c) ALU (iii) These are small amounts of high-speed
memory confained within the CPU.

Ans X 1. (@)iii), (b)-(i), (c)-(ii)
X 2.(a)(0), (b)-(iii), (c)-(ii)
X 3. (@)-(i), (b)-(ii), (o))
o 4. (a)-(ii), (b)-(iii), (c)-(i)

Question ID : 630680300130
Option 1 ID : 6306801167446
Option 2 ID : 6306801167445
Option 3 ID : 6306801167444
Option 4 ID : 6306801167443
Status : Answered
Chosen Option : 4

Q.11 Which of the following are Windows XP desktop elements?
i- Taskbar
ii- Desktop Icons
iii- Background and other Display Settings
iv- Grand Unified Bootloader (GRUB) icon

Ans X 1.i iiandiv

X 2. ii, i and iv
X 3.0nlyi
& 4.1, ii and iii

Question ID : 630680300132
Option 1 ID : 6306801167453
Option 2 ID : 6306801167454
Option 3 ID : 6306801167451
Option 4 ID : 6306801167452
Status : Answered
Chosen Option : 1
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3657

i- Increase Font Size
ii- Decrease Font Size
iii- Text Highlight color

Q.12 Which of the following options is/are NOT available in Font menu group in MS-Word

iv- Justify
Ans  # 1.0nlyiv
25 2.0, i and iii
X 3., i and iv
X 4.iiiandiv
Question ID : 630680300137
Option 1 ID : 6306801167471
Option 2 ID : 6306801167472
Option 3 ID : 6306801167474
Option 4 ID : 6306801167473
Status : Answered
Chosen Option : 1
Q.13 Match the column, e-Hospital Modules with Descriptions.
e-Hospital Modules Descriptions
(a) Admission, Discharge and Transfer (IPD) (i) This module facilitates cashier and billing
operators for managing billing functions related to
billing receipts and refunds.
(b) Patient Registration (OPD, Casualty, Appointment (ii) This module commences when the patient is
and ORS) being registered and allotted bed in the ward. It
deals with the complete treatment and services
provided to the patient during his stay in the
hospital.
(c) Billing (iii) This module is used for patient registration in
the OPD and Casualty departments as well as to
book, confirm and cancel appointments.
Ans X 1. (a)(i), (b)-(ii), (c)-(iii)
X 2. (a)-(i), (b)-(ii), (e}
X 3. (a)-(iii), (b)-(i), (c)-(ii)
o 4. (a)-(ii), (b)-(iii), (c)-(i)
Question ID : 630680300147
Option 1 ID : 6306801167512
Option 2 ID : 6306801167513
Option 3 ID : 6306801167514
Option 4 ID : 6306801167511
Status : Answered
Chosen Option : 4
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Ans

X 1.At+P>C>R
X 2.At+P>R>C
o 3.At+H>0>R
X 4 At+H>R>0

Q.14 What is the MS-Excel 365 keyboard shortcut to rename the sheet?

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680300138
6306801167478
6306801167476
6306801167475
6306801167477
Not Answered

Ans

Q.15 Match the column, MS-Excel formula 365 with Results.

MS-Excel formula 365

Results

(a) =CONCATENATE("sies","sies","es")

(i) iessies

(b) =PROPER("sies")

(ii) siessieses

(c) =CONCAT(*es"."sies","sies","es")

(iii) Sies

(d) =MID("siessies",2,7)

(iv) essiessieses

K 1. @)-(i), (b)), (0)-(iv), (d)-(ii)
o 2. (a)-(ii), (b)-(iii), (c)-(iv), (d)-(7)
X 3. @)(ii), (b)-(i), (0)-(iii), (d)-(iv)
X 4. (a)-iii), (b)-(0), (c)-(iv), (d)-(ii)

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :

Status

630680300140

6306801167484
6306801167483
6306801167485
6306801167486

: Answered
Chosen Option :

2
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Q.16 Which of the following are the benefits of m-Governance?

i- Added convenience and flexibility
ii- Easy interaction

iii- Cost Saving

iv- Proficiency

Ans X 1.0nlyi, ii and iii
75 2. Only ii, iii and iv
X 3.0nlyi
& 4.1, i, iiiand iv
Question ID : 630680300146
Option 1 ID : 6306801167508
Option 2 ID : 6306801167510
Option 3 ID : 6306801167507
Option 4 ID : 6306801167509
Status : Not Answered
Chosen Option : --
Q.17 Vacuum tube used in the first generation of computers is also referred to as
Ans X 1. closed circuits
/5 2. connector
X 3. open circuit
" 4. valve
Question ID : 630680300128
Option 1 ID : 6306801167436
Option 2 ID : 6306801167438
Option 3 ID : 6306801167437
Option 4 ID : 6306801167435
Status : Answered
Chosen Option : 1
Q.18 Identify whether the following statements are true or false.
i) In MS-PowerPoint 365, when opening a PowerPoint slide file, there are three options
available under ‘Other locations’, 1) This PC 2) Add a Place 3) Browse.
ii) In MS-PowerPoint 365, the keyboard shortcut F5 is used to start the slide show.
iii) In MS-PowerPoint 365, the ‘Reuse slides’ option is available under ‘New slides’ in
slides menu group.
Ans o 1.i-True, ii-True, iii-True
X 2.i- True, ii-False, iii-True
X 3.i- False, ii-True, iii- False
X 4.i- False, ii-True, iii-True
Question ID : 630680300142
Option 1 ID : 6306801167491
Option 2 ID : 6306801167493
Option 3 ID : 6306801167494
Option 4 ID : 6306801167492
Status : Not Answered
Chosen Option : --
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Q.19 Which of the following programs was launched by the Department of Administrative
Reforms & Public Grievances?

Ans X 1.e-Courts
/5 2.e-Seva
o 3. e-Office
/X 4. e-District

Question ID : 630680300145
Option 1 ID : 6306801167503
Option 2 ID : 6306801167504
Option 3 ID : 6306801167505
Option 4 ID : 6306801167506
Status : Answered
Chosen Option : 2

Q.20 Which of the following file format is used to save PowerPoint365 Show?
Ans X 1..ppam

X 2. .pps
& 3. .ppsx
< 4. ppa

Question ID : 630680300141
Option 1 ID : 6306801167489
Option 2 ID : 6306801167490
Option 3 ID : 6306801167487
Option 4 ID : 6306801167488
Status : Answered
Chosen Option : 3
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